Evolution Pre-Assessment
Name: _______________________________
Today’s Date: ________________________
Part 1: 

Mr. Kelly was a farmer 20 years ago.  He sprayed pesticides on his plants to keep grasshoppers away.  When he first started spraying, the pesticide killed most of the grasshoppers.  However, after 10 years, the grasshopper population was resistant to the pesticide.  How has pesticide resistance evolved in the grasshopper population?

Bob says "After each grasshopper was exposed to the pesticide, they adapted by developing resistance to the pesticide.  When the grasshoppers reproduced, they passed on that resistance."

Sam says "A few grasshoppers were probably resistant to pesticides before they were ever used. These resistant grasshoppers lived to reproduce, and passed on their resistance, while other grasshoppers died.”

Choose one of the following:

a. Bob’s statement is the only one that’s correct.

b. Bob’s statement is more correct than Sam’s statement.

c. Both statements are equally correct.

d. Sam’s statement is more correct than Bob’s statement.

e. Sam’s statement is the only one that’s correct.

Part 2:
Kangaroos can jump over 20 feet in a single hop. Assuming that today’s kangaroos had ancestors that can’t jump so far, how would a biologist explain how kangaroos evolve the ability to hop long distances?

Evolution Post-Assessment

Name: ____________________________
Today’s Date: ________________________

Mr. Kelly was a farmer 20 years ago.  He sprayed pesticides on his plants to keep grasshoppers away.  When he first started spraying, the pesticide killed most of the grasshoppers.  However, after 10 years, the grasshopper population was resistant to the pesticide.  How has pesticide resistance evolved in the grasshopper population?

Bob says "After each grasshopper was exposed to the pesticide, they adapted by developing resistance to the pesticide.  When the grasshoppers reproduced, they passed on that resistance."

Sam says "A few grasshoppers were probably resistant to pesticides before they were ever used. These resistant grasshoppers lived to reproduce, and passed on their resistance, while other grasshoppers died.”

Choose one of the following:

a. Bob’s statement is the only one that’s correct.

b. Bob’s statement is more correct than Sam’s statement.

c. Both statements are equally correct.

d. Sam’s statement is more correct than Bob’s statement.

e. Sam’s statement is the only one that’s correct.

Part 2:

Kangaroos can jump over 20 feet in a single hop. Assuming that today’s kangaroos had ancestors that can’t jump so far, how would a biologist explain how kangaroos evolve the ability to hop long distances?

